DIN# ARK Q +38096 0110103

MB i MBL 3amKoBi watibu

dy

@

Po3mipu npopi3y npAMOro cknagaHHA Ha Bany

Cumeon

Ql|lQ

| mBo [ MB4 | MB2 | MB3 | MB4 | MBS | MB6 | MB7 | MBS | MB9 | MB10
10 12 15 17 20 25 30 35 40 45 50

21

25

28

32

36

42

49

57

62

69

74

13,5

17

21

24

26

32

38

44

50

56

61

4

5

6

=

11

11

11

11

13

13

13

13

N

4

£9
o

10,5

13,5

15,5

18,5

23

27,5

42,5

47,5

v

O

w

=

o (o) -Q
&« i Qfl~ 8 N N E
@]

<

[0}

—

©

w

Po3mipu

la3

=
.H

Koumpealiika DIN

981

KM 0

KM 1

KM 2

KM 3

KM 4

KM 5

KM 6

KM 7

KM 8

KM 9

KM 10

Q) — YACAO 3y6iB 30BXAM HEMAPHE

d1 - BHYTRILLHIN pAlaMeTP

d2 - 30BHILLHIN pAlaMETP

d3 - 30BHILLHIN AlQETP Wanbu
1 - WPKUHAa AQMKK

P2 - WMpUHO AQMKK

M - AOBXMHQ
S - WMpKUHA

- AOBXVHAO Pi3bly 3 KOHYCOM

1/5

www.dinmark.com.ua

info@dinmark.com.ua



DIN# ARK Q +38096 0110103

Poamip/AiameTtp

MB11 | MB42 | MB43 | MB14 | MB15 | MB16 | MB17 | MB18 | MB19 | MB20 | MB 21 |

55 60 65 70 75 80 85 90 95 100 105

81 86 92 98 104 112 119 126 133 142 145

67 73 79 85 90 95 102 108 113 120 126

7 G 0 E

7

8 10 12

525 | 575 | 625 | ess | 715 | 765 | 815 | 85 | o915 | 965 | 1005
: : :

T k11 | km12 | km13 | km14 [ km15 | km16 | km17 | km18 [ km19 | km20 | km 21

Poawmip/AiameTp
| Cumeon [ MB22 [ MB23 | MBL24| MB24 | MB25 | MBL26| MB26 | MB27 | MBL28 | MB28 | MB29 |
110 115 120 120 125 130 130 135 140 140 145
154 159 151 164 170 161 175 185 171 192 202
133 137 135 138 148 145 149 160 155 160 171
12 14
7
1055 | 1105 115 120 125 130 135 140
1,75 2
Po3mip 14 16 | 18
o e 7
LTI k22 | km23 | KML24 | KM24 | km25 [ kKmL26 | kM 26 | KM27 | kmL28 | KM 28 | KM 29
a) — YUCAO 3y6iB 30BXKAM HEMAPHE
d* - BHYTRILLHIM AlOMETP
d2 - 30BHILLHI AloMeTP
d3 - 30BHILLHIN Al0eTP LWanbu
b1 - WmMpuHa AanKK
b2 - WmpuHa Aankn
M - AOBXMHOI
S - LUMPUHG
- AOBXMHAO Pi3bOU 3 KOHYCOM
2/5

www.dinmark.com.ua

info@dinmark.com.ua




DIN# ARK Q +38096 0110103

Poamip/AiameTtp

Cumeon

Q

15

150

155

160

165

| MBL30| MB30 | MB31 | MBL32| MB32 | MB33 | MBL34| MB34
0 170

160

170

| MBL36 | MB 36 | MBL38|

180

180

190

Q
N

188

205

212

199

217

222

211

232

221

242

231

Q
@

170

171

182

180

182

193

190

193

200

203

210

14

16

14

16

18

16

=

17

19

O
N

16

145

147,5

154

157,5

164

174

184

2,5

I

Po3mip b

18

8

Konmpeaaiika DIN 981

KML 30

KM 30

KM 31

KML 32

KM 32

KM 33

KML 34

KM 34

KML 36

KM 36

KML 38

Poawmip/AiameTp

d1

190

200

200

220

240

260

| MB 38 | MBL40 | MB40 | MB44 | MB48 | MB52 | MB56_

280

Q

252

248

262

292

312

342

362

Q

214

222

226

250

270

300

320

(o)

18

20

24

19
16
194 213 233
2,5 3
18
8 9
KM 40 KM 40 | HM 44T | HM 48T

184 253 273

IHHHIIII

Po3mip b
a3
Konmpeatika DIN 981

w

ll

KML 38

a) — YACAO 3y6iB 30BXKAM HEMAPHE
d1 - BHYTRILHIM AlOMETP

d2 - 30BHILLHIM pAlAMETP

d3 - 30BHILLHIN Al0eTp Wwandu

b1 - WMpPKUHA AQMKK

b2 - WpPUHA AQMKK

M - AOBXMHO

S - LUMPUHA

- AOBXMHQA Pi3bby 3 KOHYCOM

HM 52T | HM 56T

3/5

www.dinmark.com.ua

info@dinmark.com.ua




DIN# ARK Q +38096 01101 03

Poawmip/AiameTp

| Cumeon | MS 3044| MS 3048|MS 3056| MS 3060| MS 3160 MS 3064] M 3164| M 3168|Ms 3072| s 3076| MS 3176
20 20 24 24 24 24 24 28 28 28 32
12 12 12 12 12 15 15 15 15 15 15
e s 17,5 17,5 20,5 30,5 21 31 38 20 24 40

7 9 9 9 12 9 12 14 9 12 14

4 4 4 4 4 5 5 5 5 5 5
Mex12 | Max16 | msx16 | msx16 | M10x20 | msx16 | m10x20 | M12x25 | msx16 | mM10x20 | M12x25
Po3mip 20 24 28 32

ras. 7,5 9
Ko”mp;‘g;m S L 3044 o ey | M 3056 [ w1 3060 [Hw 30160[ " S0 | Him 316 |11 5105 | b 3072 |H 5070 e 3176

o
O
@
£
O
~~
>
0
<
®
—
O

MS MS MS MS MS
Cumson MS 3180| MS 3084| MS 3088| MS 3188| MS 3096 MS 3196 31,500 | 30/530 | 31/530 | 30/560 | 31/560
32 32 32 36 36 36 40 40 40 40 45

15 15 15 15 15 15 15 21 21 21 21

e s 24 28 43 28 53 45 34 51 29 54

18 12 14 18 14 18 18 18 22 18 22

5 5 5 5 5 5 5 7 7 7 7
M16x30 | M10x20 | M12x25 | M16x30 | M12x25 | M16x30 | M16x30 | M16x30 | M20x40 | M16x30 | M20x40

Po3mip 32 36 40 45

Mas. 9 12

HM 3180, [+ 0, [HM 3088, [ HM 3188, | HM3096, | oo | HM [Hvzoss0 | HM HM | Hv31/560,
HM 3184 HM 3092 | HM 3192 [HM30/500 31/500 | HM30/600 | 31/530 | 30/560 | HM31/600

4/5

www.dinmark.com.ua

info@dinmark.com.ua




DIN# ARK Q +38096 0110103

Poawmip/AiameTp
I 8 8 P P
30/630 | 30/670 | 31/630 | 31/670 | 30/710 | 31/710 | 30/750 | 31/750 | 30/850 | 31/850 | 31/900
21 21 21 21 21 21 21 21 21 21 21
34 39 61 66 39 69 39 70 44 71 76
18 18 22 22 18 26 18 26 22 26 26
7 7 7 7 7 7 7 7 7 7 7
M16x30 | M16x30 | M20x40 | M20x40 | M16x30 | M24x50 | M16x30 | M24x50 | M20x40 | M24x50 | M24x50
45 50 55 60 70
12 13
HM HM HM
Konmpeatiika DIN HM HM HM HM HM HM 30/750, | 31/750, | 30/850, HM HM
981 30/630 30/670 31/630 31/670 30/710 31/710 HM HM HM 31/850 31/900
30/800 | 31/800 | 30/900

Poamip/AiameTp
AR AR
30/950 | 31/950 | 30/1000| 31/1000
21 21 21 21
46 78 51 88
d 22 26 22 26
7 7 7 7
el M20x40 | M24x50 | M20x40 | M24x50
P03MIp PN w0 70 60 70
= E
HM HM HM HM
30/1000
RoHmpeatiKa DI el PP 31/1000
981 HM
30/1060

a) — YUCAO 3yDiB 3ABKAM HEMAPHE
d* - BHYTRILLHIM AlOMETP

d2 - 30BHILLHIM AlOMETD

d3 - 30BHILLHIN Al0eTp LWanbu

b1 - WrpuHa Aankm

b2 - WwmpuHa Aankn

M - AOBXMHA

S - LLIMPKWHA

- AOBXMHAO Pi3bOU 3 KOHYCOM

5/5

www.dinmark.com.ua

info@dinmark.com.ua




